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clouds are not rotationally supported, but their angular momentum is still huge !
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Show again solar system figure . This angular momentum is to
"
x larger than the sun's .



Solar system → 3-4 orders of magnitude less
Jupiter angular momentum :
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The angular momentum Wes lost from the molecular
cloud core 1- the solar system . Hoo ??

Binaries?

Large dish ?



If all this angular momentum got stored in a dish , how large would the disk be ?
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For the dish
,
the specific angular momentum is

ldish = rr- = joy. r2 = JGMT M is central mass
,
r is arbitrary radius

Equate loose and ldish and solve for r
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Collapsing clouds should produce disks of typical size of the order of n 100 to.
(show observational evidence for this size )

Introduce T- Tauri stars if there is time
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